&8

FIFE / Product Number

AU -

Hti&

H dimension

B 1L#%k / Feet specification

Wtk

W dimension

BT =hILT—%4 / Technical Datall

#E{TJLY / Recommended torque: 0.3N*m ~ 0.6N-m

D~fi%

D dimension

BR/A
Feet (R or A)

EX P /H)
Screw (P or H)

R

Color Type

¥R AZ / Components

No. £ % / Part name #=E / Pcs ME / Material & - KM / Color-Finish
1 a—F—Javy A TILEZ L Fr X ADC12 DIVR— TS - B (REELE)
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
9 R 9 TILEHRE A A6063S-T5 DIN—  TZ9T-TILIAh
Frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
2 IL—L 4 TILEHRE 4 A6063S-T5 DIN—  TZ9T-TILIAh
Panel support frame Extruded aluminium A6063S-T5 Silver , Black*Anodized
. NI ) 7 ILZHR A1100P DIN—  TZ9T-TILIAh
Panel Aluminium A1100P Silver , Black*Anodized
5 HiN— : 7 ILZHR A1100P DIN—  TZ9T-TILIAh
Top cover Aluminium A1100P Silver , Black*Anodized
6 Thiv— : 7 L4 A1100P DIiN— , TZYTTILIAh
Bottom cover Aluminium A1100P Silver , Black*Anodized
SLE TPE (TS RF) T3vY
7 Ruber feet 4 TPE (Elastomer) Black
FILZE FIE & )avT L DIWN— , TF9D-TLIAL & TS5
Aluminium feet Aluminium & Silicone Silver , Black*Anodized & Black
8 H{TE X (M3 x 8) 16 &% = IS RS
Screw (Flat head M3 - 8) Steel Nickel plated
9 R{FTER (RHEM3 x 5) g 73 ST AvE | ZlEEIOA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate
10 B{TER (/31 FEM4 x 8) 4 E3 =ffEo/air—k
Screw (Bind head M4 - 8) Steel Black trivalent chromate

EH2E R{L#%k / Original trapezoid head screw specification

030 10

030 12

IE JL 2 / Rubber feet

FILEZE / Aluminium feet

[P] 735X / Phillips

7%ff / Hexagon—socket

{1k / Color Type

XK TIWIRDBETHN—ERBEGYET,

X Color of aluminum feet will be the same as bottom cover color.

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title

FLSHvSr—2
ALUMINIUM ENCLOSURE

o]

i85 / Code | O—7+—7JAv% / Corner block {8I#% / Frame X)L / Panel H/\— / Top cover | T H/\— / Bottom cover
S S < )LsN— / Silver 2 JLsS— / Silver < )LsN— / Silver 2 )LsS— / Silver < JLsS— / Silver
S B 759% / Black < JLsN— / Silver < JLsN— / Silver 2 JLsN— / Silver < )LsS— / Silver
B S 759% / Black 759% / Black 2 JLsN— / Silver 7594 / Black 759% / Black
B B 75v7% / Black 7599 / Black 7599 / Black 7594 / Black 75v% / Black

7 5%/ Approved

iR

t&X]/Checked

3

#I[X/Created

wF

FIE /Product number

AU88-36-160101-101

RIE/Scale

R—T/Page

{ERL B /Date

2023/11/15

177

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




E view

B-B(1:5)
> = A-A(1:5) c-C(1:5)
_W «® © —
— © (0]
146 353
313
D view A view C view B view
360 =05 160+0.8

3
=
|

|
—

F view

fh/Title
TAKACHI| #XEMSHhFEHITE FILEHUr—Z O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM ENCLOSURE
75/ Approved & X|/Checked [ /Created 4 F/Product number RE/Scale
1:5
iR £ 5T AU88-36-160101-0101 e
{ERLH/Date 2023/11/22 2 /1

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




C fl#x / C Frame

110 22.5
[ap)
era¥
@
™
~
= S
2.5
g
™
\FFII
[ap)
<
5 2-M3FH I 5
2-M3 Countersunk
X RxIEH Rk / Same on the other side. N
R / Front side Z M / Back side
D {8I#% / D Frame
(L
\-"‘l_’t‘r-:l
M@ / Front side ZEM / Back side
fnd/Title
TAKACHI] #RXEitahFERTE iR O[]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
7 B/ Approved t&X]/Checked #1[X]/Created FIFE /Product number RE/Scale
1:2
iR £ wF ~R—/Page
H88 - D160 YERLH/Date 2023/11/27 3 /71

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




225

310

%)
&

2-M3FH 371
2-M3 Countersunk

14

45

29

£t47K / Total 4 pieces

BREHINTFERTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

i/ Title
IL—L

Panel support frame

o]

755/ Approved %[/ Checked #[X/Created #4% /Product number RE/Scale
1:15
iR : w4t —
W360 1ERLH/Date 2022/11/16 4 /1

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




A /N2RJL / A Panel

310

77.2

A#~ti% / Max dim. 302+ 0.5

XM / Front side

B /A% JL / B Panel

XM / Front side

H#hTiE / Max dim. 69.2+ 0.3

fREEL— M

Surface protective film side

fREEL— A

Surface protective film side

251 / Back side

ZH / Back side

fad/Title
TAKACH) #=&#snF BRI R o]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Panel
2 /Approved #&[X/Checked #[X]/Created F& /Product number RIE/Scale
1:3
iR ES it R—T/Page
H88 — W360 YERLH /Date 2023/03/10 5 /17

AREDEFEIHRRUMINFERIRICTRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




349.4

4-R14.7 330
/o X
3 8
\& &

A% / Max dim. 313 £ 0.5

3R / Front side

4-BA45

BTk / Max dim. 113 £ 0.5

fREES — A

Surface protective film side

2 / Back side

md/Title
BRASHINFEHIE H18— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Top cover
778/ Approved 1%/ Checked #U[X]/Created 4 F/Product number Rg/fc;ale
:3.5
PR =3 BF R—/Page
W360 - D160 {ER B /Date 2023/12/13 6 / 7

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.




4-R14.7

1494
130
101.4

M / Front side

3494

330

301.4

e b
o o\
< (4

9 o/
\ e

BE#~ti% / Max dim. 313+ 05

BM~T%E / Max dim. 113+ 05

4-§4.5

4-M4

REE S — A

Surface protective film side

5/ / Back side

J

\0

BRSUINTFERT S

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

mmf/Title
ThiN—

Bottom cover

o]

7 5%/ Approved #%[X|/Checked #I[X/Created FIE /Product number RIE/Scale
1:35
PR =3 BF R—/Page
W360 - D160 {ERL B /Date 2023/12/14 771

AREDEFEIBRRSHINDTFERITEITRELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.






